RIG Quest

PC DESK CHAIR

/Hordwcre
— Pack Location
00 |

N
RTG SKU# | Style# FINISH ITEM DESCRIPTION
38307826 | 0782501 BLACK PC DESK CHAIR BLACK
38307838 | 0782601 GRAY PC DESK CHAIR GRAY
38307840 | 0782701 PINK PC DESK CHAIR PINK

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

This product is manufactured by ABAY for ROOMS TO G® \ KIDS

Version 1-2024-05-20 Page 1



Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts
which may have come loose inside the carton during shipment. Identify and count all parts and compare with
the parts list below. Read all instructions before assembling bed and keep these instructions for future reference.

[ Parts List: J

ITEM DESCRIPTION IMAGE QTY
A Caster @ 9)

Base S ]
Gas lift a3 ]

Gas lift Cover ) ]

m| | ()| @

Mechanism ‘ ]

F Right armrest E ]

G Left armrest ? 1

H Seat Botfom = 1
| Seat Back

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

This product is manufactured by ABAY for ROOMS TO G® ] KIDS

Version 1-2024-05-20 Page 2



Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts
which may have come loose inside the carton during shipment. Identify and count all parts and compare with
the parts list below. Read all instructions before assembling bed and keep these instructions for future reference.

[

Hardware List:

J

ITEM

DESCRIPTION

IMAGE

QTY

Washer M8X18 mm

M8*18

Bolt M6*20 mm(18= 1thread)

Washer M6X18 mm

12

Bolt M8*30 mm(22= 1thread)

Bolt M6*25mm(22 = 1thread)

OOV BW DN

Allen wrench ( ¢ 6mm)

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

This product is manufactured by ABAY for ROOMS TO G® | KIDS

Version 1-2024-05-20

Page 3



Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts
which may have come loose inside the carton during shipment. Identify and count all parts and compare with
the parts list below. Read all instructions before assembling bed and keep these instructions for future reference.

[ Assembly Instructions: J

Stepl

Step?2

Stepd

(=]

N\
__—0—°

@1 |
+—1
~—6

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

This product is manufactured by ABAY for ROOMS TO G®

Version 1-2024-05-20

KIDS

Page 4



Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts
which may have come loose inside the carton during shipment. Identify and count all parts and compare with
the parts list below. Read all instructions before assembling bed and keep these instructions for future reference.

[ Assembly Instructions: ]

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

This product is manufactured by ABAY for ROOMS TO G® | KIDS

Version 1-2024-05-20 Page 5



Thank you for purchasing this quality product. Be sure 1o check all packing material carefully for small parts
which may have come loose inside the carton during shipment. Identify and count all parts and compare with
the parts list below. Read all instructions before assembling bed and keep these instructions for future reference.

[ Product Features & Instructions: ]

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

This product is manufactured by ABAY for ROOMS TO G® | KIDS

Version 1-2024-05-20 Page 6



